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Instructions to Candidates:
Attempt all questions

You are advised to show enough working.
Answers by crial and improvement are not acceptable.

If an answer is not exact, you should give it to 2 decimal places, unless otherwise stared.



1. In 2009, Burj Khalfia (Dubai) was unveiled as the world’s tallest building, standing at 2625
) feet high.
B e
l S
Sl —
2o
ol —_—
g e
el s
e p— — . e B2 TaFa
Sredelyymid Empire Stice A ARG A4
§ ’ VLTIV Hast Burj Khalifa
EIF{%L]:?SQ’ %&E:l:?ut?\';:;? —- d(lI::'dYeasﬁm'r (Blanch :rdl (Dubai?
i) Given that 1 foot = 0.3028 meters, find the height of Burj Khalfia in meters (to 1
decimal place). g
il) IFI drew a straight line, which was 1 km long, from a point, X, on the ground, to the
very top of the building, how far from the base of the building would X be?
2. Here are some facts about the average human:

3. (a)

(b)

A frown uses 43 muscles and a smile uses 17. Every 200 000 frowns creates a wrinkle. A
person blinks 6 250 000 times a year. Human blood travels 60 000 miles per day and the
number of breaths taken is 23 040 per day. Each breath draws in 4.2 litres of air. Give each
answer to the nearest whole number.

i) How many muscles create 100 wrinkles?

ii) How many blinks will have taken place in a classroom of 20 children and one
teacher in a one hour lesson?

iii) Calculate the volume of air breathed in a 70 year lifetime. Given that one cubic
metre is 1000 litres, how many classrooms of dimensions 10m by 8m by 3m will
have the same volume?

iv) Given that the radtus of the earth is 3960 miles, how many times around the earth
would blood travel in a year? '

In 2 group of 35 pupils on a school trip, 14 are wearing hats, 18 are wearing gloves and 11
are wearing neither. Find the probability thar a pupil chosen at random:

i) is wearing a hat but no gloves,
ii) is wearing gloves but no hat,
iii) is wearing both,

Barry and Teresa are two children in the Jones family. Barry has the same number of sisters

and brothers. Teresa has twice as many brochers as siscers. How many children are there in
the Jones family?



5.(a)

Inalocal shop I buy a packet of mints costing 7z pence, a newspaper costing 7 pence anda

large bar of chocolate costing ¢ pence, (which was the most expensive of the three items).

a) In total I spent £2.70. Form an equation to connect 7z, 7 and c.

b) The difference in price between the chocolate and the mints was the
the newspaper. Use this information to form a second equation connecting 772, 72
¢) Use your two equations to calculate the cost of the chocolate bar.

same as the cost of
andc

In this question, the diagrams have not been drawn accurately.

The diagram shows a square inside a regular hexagon. Find angle YXZ .

Y
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(b) The diagram shows a square of side 6cm containing two overlapping equilaceral criangles.
Calculate the distance 4B . : :

N
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(ii) Asshown in the diagram below, the vertices of a square are ( (x,0),(0, ¥),(a,b) and (c,d).

If a+b=20 and c+d=16,ﬁndthevalucofx+y.

(a,b)

(¢,d)

(0,y)

(x,0) &

A group of schools are planning a hockey tournament where in each week each ream will

play only one game. (It may be necessary for a team to sit out).

The voutmanent starts with 4 schools, 4, B, C and D.

Week 1: A plays B, -C plays D . Two pitches are used
Week 2: A4 plgi_s C, Bplays D. Two pitches are used
Week 3: 4 pla);,_s;__l?, B plays C. Two pitches are used.

o 'ﬂ The tournament is finished when every team has played every other team once.

Copy and complete the following table and give any general rules that you discover.

_.__f ~Numberofpitches each

Number of e B Nl-lfnbcr of weeks needed time
4 3 Z
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End of examination, now go back and check your answers
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